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12U/101/25 (1)
Time : 25 hours] [Full Marks : 450
g Td uve) [qurfes : 450

Instructions : This paper consists of Objective Type Questions and is divided into
Five Sections :

(i) Sections I, II, III and IV are compulsory. In addition, a candidate is
required to answer questions on EITHER English Language OR
Hindi Language (Section V).

(i) There are in all 180 questions. Attempt as many questions as you can.
Each question carries 3 (THREE) marks. One mark will be deducted
for each incorrect answer. Zero mark will be awarded for each
unattempted question.

(iii) Each question is followed by FOUR alternative answers (1), (2), (3)
and (4). Only one of these answers is correct. Select the correct
answer and record it against the question by darkening the appropriate
circle in the OMR Answer-sheet by Blue/Black ball point Pen.

(iv) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

33T : I8 TRA-TF Sgfashedid Tl W ATURd § aun I @vel o fowia R -

() @vg I, II, III 3 IV e € | 5o fafes oreeff w6t et wwr
TR (@R V) Fuel F WA |

(i) T 180 v ¥ | i gl & IW W F WA H | TAH TH
3 () 3% F1 ? | TP TEd SR & AU Tw 31w IR | 5_F
STafE e T WTHI I & |

(iii) TH T % =N FHfeus IT (1), (2), (3) W (4) & | T A FHaed TH ITN
é R | G I B T A I OMR T~ # I9gw 99 H w1 /
i 91 W8 FAH gRI HIAT T S |

(iv) afe Triftrs Jfeas I adt IW F fAere wdta & at Freheaw ad@t s 2 |

(1) (Turn Over)
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SECTION-I
wue—]
( Economics and Money I}anking )
( erefvmrer we gen fT )

1. Which of the following is the primary function of money ?

(1) Basis of credit (2) Store of purchasing power
(3) Medium of exchange (4) Liquidity to capital

frafafga § @ SR-a g w1 mufim e & ¢

(1) URg HI AYR (2) 4 Wt 1 WUSR
(3) v =1 wremm (4) $ft i T
2. 'Bad money drives out good money.' Who has said it ?
(1) Sir Thomas Gresham (2) J.M. Keynes
(3) Paul Einzig (4) G Crowther

A TR I R TR A TR R 2 | B Fm Fare ¢

(1) W oiwg dam (2) o Wo F
(3) i R (3mgatem) (4) o I
3. Paper money is a good example of
(1) Gold standard (2) Representative money
(3) Silver money (4) Metallic money
TG T 3Tl &8 8
(1) TEuHE & (2) wfafafr ggr =
(3) W@ [l (4) wfeas 951 &1

(2) (Continued)
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Which method of note-issue has been adopted in India ?

(1) Minimum Reserve System

(2) Proportional Reserve System

(3) Fixed Minimum Fiduciary System
(4) Government Bonds Deposit System

e # Fe-frim & wa- fafy s =i 2 ?

(1) =aw g9 Jorct!

(2) NS do yured!

(3) wrafy =maw = et

(4) TWEHH =g T JoTet

Who had propounded the Wealth Theory of Demand for Money ?

(1) D.H.Robertson (2) Milton Friedman
(3) Walker (4) L.V.Chaudler

Tz <t At @ awafy fagra 1 vfoures feaa fem ¢

(1) <o W@ TaHT 3 (2) fee wigeha A
3) a3 (4) TH, Y, e 3

The book 'The Purchasing Power of Money' was written by

(1) IrvingFisher (2) J.S.Mill
(3) David Recardo (4) David Hume

S v iar % wHY gEah forat

(1) 3fam T gra (2) o TWo firct grw
(3) 3= ==l g (4) e ggm g

(3) (Turn Over)
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7. Inflation is beneficial to

(1) Consumers (2) Creditors

(3) Investorsin bonds and securities (4) Debtors
Herehifa et 3

(1) IuurerT & feu (2) eer S fou

(3) «ivs @ i d v i (4) 3R & R
8. Who will be benefitted by deflation ?

(1) Traders (2) Producers
(3) Debtors (4)  Fixed-income groups

HIEEIfT @ B arf=a g ?

(1) = (2) 3IqEH
(3) ¥R (4) Ffea-sm ogg

9.  Which of the following is not a principle of investment policy of a
commercial bank ?

(1) Safety (2)  Legal obligation
(3) Liquidity (4) Diversity

ffafad 4 @ sh-an et % & fafam fift = g i 2 2

(1) guam (2) 3duifies e
(3) T 4) fafaya

(4) (Continued)
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11.

12.

Which of the following is an asset for a bank ?

(1) Capital (2) Reserve Fund
(3) Loansand advances (4) Bill payable

Frafafea 3 & wF-a1 o & g amfa @ 7

(1) o (2) dfea
(3) = wE Afm 4 @fa

The Reserve Bank of India was nationalised in the year

(1) 1935 (2) 1940
(3) 1948 (4) 1956
el figrd do 1 T foea T ad

(1) 1935 # (2) 1940 #
(3) 1948 # (4) 1956 ®

The theory of comparative costs was first propounded by

(1) David Ricardo (2) J.S. Mill
(3) F W.Taussig (4) Bertil Ohlin

et TTE 1 g wdyem wfearfed fran

(1) e fe=El g (2) I W, i g
(3) Tho T&Y, MM g (4) stfew gl g

(3)
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13.

14.

15.

The 'Scarcity' definition of economics is associated with

(1) A.Marshall (2) L.Robbins
(3) J.N.Keynes (4) A.C.Pigou

YR hit ‘gewar IR wEtRE }

(1) QAW & (2) TH Ulea |
(3) Jo To F A (4) T d Fi |

The terms 'Microeconomics' and 'Macroeconomics' were coined by

(1) Ragnar Frisch (2) Maurice Dobb
(3) McConnel (4) R.Campbell

‘g T’ U ‘JRq A Y& Sl g foRa TR

(1) ¥ fres T (2) #ftm et g
(3) T HRA g (4) AW, F A g

Which of the following is not a feature of perfect competition ?
(1) Large number of buyers and sellers

(2) Free entry and free exit for firms

(3) Absence of artificial restrictions

(4) . Presence of artificial restrictions

frafafga & @ w-w of it & a2
(1) swanell wd fasharedt < ot w@n
(2) HT 1 I YA & I A

(3) StW wiiedl #1 AvE
(4) Ftw vfeedl f sufefy

(6)

(Continued)
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17.

18.

19.

12U/101/25 (1)
Who is the author of the book entitled 'Scope and Method of Political
Economy' ?

(1) J.N.Keynes (2)F. Zuethen (3) Carlyle (4)Milton Friedman

'Scope and Method of Political Economy'
i s S AEHF P B 7

(1) oo T (2) T I (3) FrEEA  (4) faee Trem

Which one of the following is not a factor of production ?

(1) Land (2) Capital (3) Value (4) Organisation
e § & B Seune w EeA T R 7

(1) a4 (2) @) (4) wH

Who defined 'Money is what money does'

(1) J.N.Keynes (2) Fisher

(3) Hartley Withers (4) Robertson

Foett o R & S 1 1 e

(1) Fo To he 2) fem

(3) T faed (4) TadEA

Example of joint demand is

(1) PenandlInk (2) Newspaper and Journal
(3) Gheeand Oil (4) BusandTrain

T A IR &

(1) w@ @ Hem (2) qBE T IEER

(3) Hhugad (4) 9 @ @&

(7) (Turn Over)
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20. When increase in the price of tea and decrease in the price of coffee ?

21.

22,

(1) Tea will be purchased more

(2) Coffee will be purchased more

(3) More tea and less coffee will be purchased
(4) Less tea and more coffee will be purchased

=1 Y H1d TG T HIA! H FT T W

(1) e =g @6 s
(2) ftreh =Y @l St
(3) ftrs v W@ wW wH GO sEh
(4) *° 9@ v At w1 gl s

The standard of leaving in a country is represented by its

(1) Poverty ratio (2) Unemployment
(3) National Income (4) Per capita income
fore <o & e wR IuH—— Sffifea T R |

(1) et s1gam (2) T

(3) U IE (4) R =afE o

One rupee currency notes bear the signature of

(1) Prime Minister of India (2) President of India
(3) Finance Minister of India (4) Finance Secretary of India

T 91 % TI-TGT W T S8R & & |
(1) WE % JyEEs (2) 9Ra % Tl
(3) a1 fam Wit (4) vra % fa afea

(8) (Continued)
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24.

25.

12U/101/25 (1)

The largest public sector bank in India is

(1) State Bank of India (2) Central Bank
(3) Punjab National Bank (4) Indian Overseas Bank

WA ¥ A 89 % 98 981 9% g1

(1) W Re &% ) =@ =
(3) U YA S (4) sfema s I
Bank Rate means

(1) Interest rate charged by scheduled Bank

(2) Interestrate charged by public

(3) Interestrate charged by money lenders

(4) Official rate of interest charged by the Central Bank of the country

S 1 a1 &

(1) e ¥ gro ot R IR |
(2) a1 g =T R I TTen ST 8t

(3) WERH g1 9 R 99 9T S
(4) Freft 3w 3 F=ha S g o R IR el ST S @

Who among the following is the Chairman of the Planning Commission ?

(1) President (2) Prime Minister
(3) Union Minister of Planning  (4) Union Cabinet Secretary

= & & £ Qe o & sy B # 7

(1) Tgafa (2) uEER
(3) H A wh (4) ¥ Sz wfim

(9) (Turn Over)
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26.

27.

The Average Fixed Cost (AFC) is product of

| Total Cost 5 Total Fixed Cost
S Total Output 2) Total Output
Total Variable Cost Average Total Cost
Average Variable Cost ' Total Output
g for arTG (AFC) 391 % &
(1 =T ) TR
FE I Fal ITEH
3) Fa faaem s @) e g9 v
e fa=es s FA Ieare

One of the essential conditions of a perfect competitive market is

(1) Large Number of Buyers

(2) Large Number of Sellers

(3) Large Number of Buyers and Sellers
(4) None ofthe above.

ot gfernft s 6 s wifverd wd 97 2
(1) harelt 6 st wEm
(2) Fkanatt &t ) wen

(3) warew g Rseaait 6w wEm
(4) 3w ® A H§ 76

(1)

(Continued)
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29,

30.
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According to the Quantity Theory of Money, if the value of Money in-
creases then the general price level will

(1) Increase (2) Decrease
(3) Remain stable (4) Fluctuate

g1 % e Rigra 3 SFER, AR T 1 AP aedT @ A W hid Wi e

(1) gm (2) wm
3) e wm (4) wemEgm

Whose signature is found on a ten rupee currency note in India ?

(1) Governor of RBI (2) Finance Secretary of India
(3) Finance Minister of India (4) None of the above.

YA ¥ g8 0 & AIe W g s IR I g 7

(1) e &% mTaR (2) wa & o wfes
(3) W % forer ol (4) g & B A |

Which of the following is the result, when currency notes are printed to
meet the budget deficit ?

(1) Inflation (2) Deflation
(3) Devaluation of Currency (4) None of the above.

oo Fe e B gfd % 7Y o g yeElie A It @ @ e | qform
g d ?

(1) (2) T EFA
(3) el T eI (4) IEE 9 T BE T

(11) (Turn Over)



12U/101/25 (1)

31.

32.

33.

SECTION-1I
wue-11

(Accounting and Business Organisation )

( AT T sHEETias §eT )
Which one of the following is not an objective of Accounting ?

(1) To keep systematic records  (2) To make profitable investment
(3) To ascertain profit or loss (4) Toknow financial position

el da s dum I w st T & ?

(1) RS A@ W@ (2) s faffEm s
(3) & 1 ' h T (4) fa<hm feufy s

The first stage of Double Entry System is

(1) Original records (2) Posting

(3) Classification (4) Trial Balance
BT @Y T ST T e B

(1) 9Rfers o (2) @

(3) affetmr (4) a9

An entry with more than one debit and credit is called

(1) Opening entry (2) Transferentry
(3) Compound entry (4) Closing entry

WANME T E T s R R A e ¥ 7

(1) o ufafs (2) g=aw gfafy
(3) wgw wfafe (4) stf=m wfafy

(12) (Continued)
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3s.

36.

12U/101/25 (1)

A loss arising due to fire is

(1) Real Account (2) Personal Account
(3) Suspense Account (4) Nominal Account

I ¥ BRIl o1 —— & ar=ia AT § |

(1) arafas @@ (2) =afRETa @
(3) =Gt (4) SHEE G

No Journal entry is made for —.

(1) Brokerage (2) Trade discount
(3) Petty expenses (4) Cashdiscount

Qo Y gfafd —— 7 R S &)

(1) e (2) ST /gL
(3) @A (4) T

Credit Balance of nominal accounts indicates

(1) Expenses and Losses in business
(2) Profit of the business

(3) Income and gains in the business
(4) Assets of business

AEE @R 6 A 99 ER T 8

(1) =R & =9 & gifat
(2) SR F ™

(3) =NR# JA™ Ty wivaf
(4) =R $ gefEt

(13) (Turn Over)
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37. Sales Returns Journal is also known as

(1) Returns Inward Journal (2) Returns outward Journal
(3) Purchase Journal (4) Sales Journal

fasra ot 7 38 ™ @ oft I ST 2

(1) I T (2) e ae =

(3) W (4) T g

38.  The process of taking entries from subsidiary Books to ledger is called
(1) Journalising (2) Transferring ~ (3) Posting (4) Balancing
e it @ e ¥ SR ) S TR e e o
(1) IHEE (2) T (3) & (4) I8 Frewe

39. Any difference in Trial Balance must be entered in

(1) Capital Account (2) Suspense Account
(3) Nominal Account (4) Drawing Account
FeTe & W =R W oravd SRt g e

(1) o g (2) 3= @ A

(3) W @l A (4) ET G §

40. Final Accountis

(1) Ledger (2) Account

(3) Statement (4) Account and Statement
f<m @ €

(1) @@ (2) =@t

(3) fram (4) @ @@ faw

(14) (Continued)
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42,

43.

12U/101/25 (1)

The excess of debit in Trading Account is called

(1) Net Loss (2) Net Profit
(3) Gross Loss (4) Gross profit
T Tl ® AW & ey + wgd §

(1) geah (2) g ™

(3) T TN (4) qFa &=

Suspense Account is appearing in Trial Balance is shown in

(1) Trading Account (2) Profit and Loss Account
(3) Balance Sheet (4) Ledger Account

g 3 wefda 3= @ @ e e @

(1) =i g (2) dm-gf @

(3) i fagr (4) @mar 9

The decision regarding investment in fixed assets is known as

(1) Capital Budgeting (2) Revenue Budgeting
(3) Cash Budgeting (4) Sales Budgeting

foR wrafat & fafram desdt Fofr @ = 9w #

(1) §h e (2) 3T wA
(3) TS« (4) fosma S5

(15) (Turn Cver)
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44,

45.

46.

The discount column in Triple Cash Book records

(1) Cashdiscount (2) Trade discount
(3) Seasonal discount (4) Customer discount

T @™ T T od F —— 1 @ R S R |

(1) Thgge (2)wrmﬁ€5@
(3) Wl g (4) TER R

A company can issue shares at a discount subject to the condition that
issue must be sanctioned by

(1) Board of Directors (2) Company Law Board
(3) Govt.of India (4) Company Registrar

et wraft & g oI 1 feie 38 T W 3T9ER W R o wwar @ e @
i =1 go g il § e ?

(1) e v (2) wro AF A€
(3) WG &R (4) s ™R

An unfavourable balance means

(1) Debit balanceincashbook  (2) Debit balance of Assets Account
(3) Creditbalanceinpassbook  (4) Debit balance in pass book

wftepet 919 1 7 B

(1) UFg T&F § TH 9 (2) Ty Grar 1 9
(3) UEgH § I Ay (4) TE gF | 99 99

(16) (Continued)
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48.

49.

120/101/25 (1)

When acceptor becomes insolvent, the drawer debits

(1) BankAccount (2) Bill Receivable Account
(3) Acceptor's Account (4) Bill Payable Account

o et fearforan § S 8, g AW = @

(1) %@ (2) T forat @
(3) il @m@r (4) ¥ faet @r

If the payment is made before Average Due Date, the debtor is allowed

(1) Rebate (2) Interest
(3) Commission (4) Discount

Ife aftma yram ffy & o syam e Srar @ oY SR Y & uga 2

(1) =X (2) ==
(3) YA 4) %

In case of manufacturing concern which one of the following is not
included ininventory ?

(1) Raw materials (2) Goods in transit
(3) Work in process (4) Finished goods

famio dean & d=d  fmifea § @ Rl vy (3TR=d) # wife & e
Iy ?

(1) wF=nwE (2) wrkey W
3) fmiomefim wrd (4) fiffa et

(17) (Turn Over)
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50.

51.

52.

53.

Decrease in the value of fixed assets is termed as

(1) Expenses (2) Depreciation  (3) Profit (4) Loss
Tt et % e § w5 wEerd §

(1) & (2) '™ (3) @™ 4) T
A Joint Stock company is

(1) an artificial institution (2) anatural person

(3) anartificial legal person (4) Trust

(1) wtm=fe (2) Wi At

(3) <ufier Fhm =fw 4) =

In India a partnership firm is governed by this Act

(1) Partnership Act, 1920 (2) Partnership Act, 1956
(3) Partnership Act, 1948 (4) Partnership Act, 1932

uRd # "reerl &H w1 g9 39 futae § g R

(1) wsmEed sfuafem, 1920 (2) argett arfufem, 1956
(3) ureerh arfufem, 1948 (4) Tl fufem, 1932

Which Business organisation is easy to start

(1) SoleTrading (2) Firm

(3) Joint Stock Company (4) Co-operative Societies
el =i @rea F Y& FET A &

(1) THeH SAUR (2) wH

(3) TIH-TY WA (4) Gt |Mld

(18) (Continued)
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SS.

56.
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Equity Shareholders are

(1) Customers of Company (2) Owners of Company
(3) Creditors of Company (4) Debtors of Company
AT VYR B §

(1) 90 & 7Es (2) et & @t

(3) wf F AR (4) FH ¥ TR

Which one of the following is not a characteristic of a company ?

(1) Voluntary Association (2) Perpetual Existence
(3) Unlimited Liability (4) Common Seal

frifora 3 @ o o Foft N Frwar Ei @ 7

(1) U= amed (2) Tt AR
(3) orifa g (4) 9@ g

Reduction of Share Capital requires the permission of

(1) Central Government (2) Court
(3) SEBI (4) Company Registrar

W Gt A o1 A & o 3ot orguly atavEs @ R

(1) &% T&HR (2) =
(3) Jft (4) Frf Trgw

(19) (Turn Over)
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57.

58.

59.

60.

For providing depreciation on leasehold property, the appropriate method
of depreciation is

(1) Replacement Method (2) Revaluation Method
(3) Fixed Instalment Method (4) Diminishing Balance Method

Uz 4d TRt W g & e * o, | Y Suge fafy &

(1) wiamm &ty (2) geaeA fafy
(3) Ffvaa wum fafyr (4) seama grE fafy

The value of the goodwill of the business will be the highest, if the majority
of the customers of the firm are of the nature of

(1) Cats (2) Dogs (3) Rats (4) Tigers
ST hl TG 1 454 Faittes gom afg wid % ifreiy wee @ T &
(1) forft )3 3) | (4)
Total Amount of liabilities side include the following

(1) Authorised Capital (2) Issued Capital

(3) Subscribed Capital (4) Paid-up Capital

& F F 3 % i va & fr I o 5 e A Shgr T @

(1) wﬁ?ﬂéﬁ (2) fif h

(3) =ifua g (4) wea ot

In case of liquidation of a company any amount payable under employees
provident fund will be

(1) Secured Creditor (2) Unsecured Creditor

(3) Preferential Creditor {4) Partly Secured creditor
Pt o gETed < feufa 3 sderd f ufess (ift & s=rla 33 ofy g
(1) el e (2) gl SR

(3) uaifRR SFER (4) s gUda Ser

(20) (Coniinued)
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62.

63.
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SECTION-III
wug—III

(G.K. and Current Affairs )
( amT= T )

Who among the following is the author of the book— My Country My Life ?

(1) APJAbdul Kalam (2) Atal Bihari Bajpai
(3) L.K.Advani (4) Shashi Tharoor

fifra # @ F- My Country My Life 3w & @@ § ?

(1) T ., 75w (2) e fagrdt st
(3) TEl, %, vEamf (4) ofor 9w

Which part of the Indian Constitution declares the ideals of Welfare State ?

(1) Fundamental Rights (2) Fundamental Duties

(3) Preamble (4) Directive Principles

W TRYE S W a R oA TS ¥ orgw! Y oifve war § ?
(1) wifes sften (2) Wi wde

(3) wEEA (4) Fymmenss fagra

Who was the leader of gadar party ?

(1) Bhagat Singh (2) LalaLajpatRai
(3) Balgangadhar Tilak (4) LalaHardayal
TR T H AT B & 7

(1) v fag (2) ST ARYd TF
(3) =TT foasw (4) A A

(21) (Turn Over)
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64.

65.

66.

Article 370 of the Indian Constitution is related to —.

(1) Jammu and Kashmir (2) Sikkim
(3) Goa (4) Assam

WRetT Sfewm & 9w 370 § — weEtd § |
(1) S & HRAR (2) Rrmm
(3) Tan (4) ¥E™
Rouble is the currency of —.

(1) Japan (2) China
(3) Russia (4) USA.

oA — 6 H-IET # |

(1) Sm= (2) ==
3) &= (4) 3wl

The United Nations came into existence in :
(1) 1946 (2) 1945 (3) 1947
T Ty vy —— o feaea 7 o |

(1) 1946 (2) 1945 (3) 1947

(22)

(4) 1950

(4) 1950

(Continued)
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68.
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Which gas often creates more air-pollution ?

(1) Nitrogen (2) Carbondioxide
(3) Carbon monoxide (4) Oxygen

+ T ITg: 31fik aIg-JgNvT goE AT g ?

(1) T8aeH (2) wEH SRNFAES
(3) A AHTEEE (4) ArEFEsH

The slogan 'Inquilab Zindabad' was first raised by

(1) Lokmanya Tilak (2) VeerSavarkar
(3) Chandra Shekhar Azad (4) Bhagat Singh

ot IeTETe &1 I ga99H — & gra feam o |

(1) = e (2) ¥R |EER
(3) TSI AT (4) wra f&=

Which one of the following places is not located on the bank of river
Ganga ?

(1) Uttarkashi (2) Kanpur
(3) Fatehpur (4) Bhagalpur

freforRaa sl & @ #1778 % fem g T & ¢

(1) TR (2) HEAR
(3) HARL (4) WTTRTR

(23) (Turn Over)
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70.  Who started the Bhodan Movement ?

(1) J.B.Kripalani (2) Jayaprakash Narayan
(3) Swami Vivekananda (4) Acharya Vinoba Bhave

‘g I’ fhen g T 7

(1) 3. &, Fawemh (2) STITHIY AT
(3) warft ez (4) = faen wia

71.  What is the maximum length of a day on the poles ?
(1) 12 hours (2) 24 hours (3) 3months (4) 6 months
ol T T T w1 srfirenan enad fram g @ 7
(1) 129 (2) 24 b1 (3) 39r (4) 6 WTE
72.  The temperature of the sun's outer surface is

(1) 60,00,000 °C (2) 6,000 °C
(3) 600°C (4) 60,000 °C

i & =gl gag 1 a9 — 2 |

(1) 60,00,000 8, U= (2) 6,000 °4. U
(3) 600 °&, Ug (4) 60,000 =, I

73.  Theleading mica producer in the world is —.
(1) USA (2) Russia (3) India (4) China
TaR # ool tevE I — ¢ |
(1) =T Ty T (2) & (3) wwa (4) ¥

(24) (Continuecd)
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7S.

76.

12U0/101/25 (1)

Durand Cup is associated with the game of

(1) Football (2) Hockey
(3) Cricket (4) Badminton
TS Y I TY 3W @A 4 8

(1) oA PARED

(3) e (4) sefmea

What is the slogan of Census 2011 ?

(1) Our Country, Our Future

(2) Our Census, Our Future

(3) Our Country, Our Census

(4) Our Country, Our Population

SEOAT 2011 1 IS IR (TANHE) TR 7

(1) AW <, gAm wiasy
(2) BE ST, FHN WIS
(3) BHI <¥, FAR SO
(4) TI 39, AT G

Who was the chairman of constituent Assembly ?

(1) Rajagopalachari (2) Dr.B.R.Ambedkar
(3) Dr. Rajendra Prasad (4) TejBahadur Sapru

Gy |91 1 7egs A 9 7

(1) TS (2) 3. #fl, 3, F=SH
(3) ST g T4 (4) I =G TY

(25) (Turn QOver)
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77.

78.

79.

80.

Which country has the longest Constitution ?

(1) India (2) USA
(3) China (4) France

fora 20 1 o=Q wE ERuE R 7

(1) wra (2) TYH A TG
(3) == (4) ¥ @

Saina Nehwal is famous player of

(1) LawnTennis (2) Golf

(3) TableTennis (4) Badminton
g1 AEaTd forw @ R wiig Raare @

(1) @ fm (2) T

(3) Mo fm (4) Jehm

National Development Council is set up in.

TP o aiteg A v — ¥ gan o |
(1) 1948 (2) 1950 (3) 1951 (4)1952

Kilo Watt Hour represents the unit for

(1) Force (2) Power (3) Time (4) Energy
fopel e =er 3ah 3o1s ! guitan @
(1) wam (2) =k (3) amx (4) T

(26) (Continued)
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82,

83.

12U0/101/25 (1)

80% of the coal in India comes from

(1) Jharia and Raniganj (2) Kantapalli and Singareni
(3) Singrauli and Korba (4) Neyveli

qREd # 80% HIIAT F&1 § AT B

(1) @i qer T (2) r=agt qen G
(3) Ferdeh qen wREn (4) A=

The Head quarter of International Olympic Committee (IOC) is at —.

(1) Paris (2) Lausanne
(3) Washington (4) Pune

F=RigE arffaftaes afify = geaem — A a3 |

(1) uf@m (2) @=E R
(3) =firmen 4) T

Soumya Swaminathan is a famous player of —.

(1) Golf (2) Chess
(3) Squash (4) Badminton

g @i —— i Tiig TaE § |

(1) % (2) YIRS
(3) whad (4) SEfea

(27) (Turn Over)
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84.

85.

86.

India won its 100th Test Match (Cricket) against — .

(1) Australia (2) SriLanka
(3) New Zealand (4) Pakistan

WRA {91 100 af 3= 09 (Trkhe) — & favg e |

(1) smegfean (2) e
(3) =i (4) HiferEa™

Who has written a novel entitled "Wolf Hall' ?

(1) Milton (2) T.S.Eliot
(3) Thomas Hardy (4) Hilary Mantel

foran "gow g’ sfids @ ST=mw fo@n @ 2

(1) w19 fueen (2) &. . 3=
(3) oE 7t (4) & oee

Which of the following crops need plenty of water to grow ?

(1) Jowar (2) Cotton (3) Paddy (4) Bajra

fafefaa waal | e aga i ot i sTravasat B 3 7

(1) SSR (2) U™ (3) 4 (4) sSIa

(28) (Continucd)
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88.

89.

90.
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Who wrote the book 'Runs in Ruins' ?

(1) Sandeep Patil (2) Sunil Gavaskar
(3) Kapildev (4) Mohinder Amarnath

TE o’ g foeen foraht ¢

(1) wd urfes (2) et TR

(3) FHvered (4) =fgg sy

Gas engine was invented by — .

(1) Daimler (2) Davy (3) Newton (4) Charles
— ¥ g g S Y SRR B |

(1) gwer (2) et (3) A (4) =red
The capital of Hungary is — .

(1) Bogota (2) Budapest (3) Madrid (4) Havana
il < T — 2

(1) s (2) Femw (3) Afge (4) T

Sriharikota is situated in — .

(1) AndhraPradesh (2) Tamil Nadu
(3) Karnataka (4) Kerala
Sigiapter — ° § |

(1) ST (2) afierg
(3) ieH (4) F@

(29) (Turn Over)
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91.

92.

93.

94.

SECTION-1V
wus-1V

( Mathematics )
(wrfvme )

What should come in place of the question mark (?)
gearee g (7) Y s W o1 =iy ?

58.621 - 13.829-1.214=-17.302="°

(1) 37.281 (2) 35.272 (3) 36.276
Find the value of

T T
64x49 +(4)2 x12=2

(1) Js (2) 49 (3) 63

75% of 280 — 24% of 45 =
280 =T 75% — 45 =1 24% =

(1) 194.5 (2) 195 (3) 199.2

(4)31.254

(4)42

(4)198

5 metrictonne 8 quintal 4Hg 6g 2cg 3mg willbe —kg.
SAfcret 8fded 4ewwm 6um 29, um 3 UMW — feeum 8

(1) 584623 (2) 580.046023
(3) 5800.406023 (4) 5804.0623

(30)
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96.

97.

98.
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One Municipality wants to collect additional taxes Rs. 4,76,500 for the relief
of refugees. If taxable assets is Rs. 89,73,900 what will be rate of taxation
per rupee.

(1) 8.3 paise (2) 5.3 paise
(3) 1.3 paise (4) 6.3 paise

T3 TRaTiereRt TRuTRiAT oY Tgd & ford faftes st e 4,76,500 s9=1 SR
gt 2 | Y& hl L A gFfd 89,73,900 w9t B | Ufd w9d Wl I =
Uil

(1) 83 94 (2) 53 %@
(3) 13 % (4) 63 W

What will be the lowest form of 24 : 264 ?
24 : 264 1 FaY TEI 1 AN ?

(1) 12:132 (2)9: 198 (3)1:11 (4)1:8

Which one of the following ratio is the same as 7:9 ?

(1) 42:45 (2)21: 24 (3) 45 :63 (4) 28 : 36
frrdasNw o san e anfs 7:9 7
(1) 42:45 (2)21:24 (3) 45:63 (4) 28 : 36

An insolvent debts amount to Rs. 6,000 and his assets are Rs. 2,400. How
much can be paid in arupee ?

(1) 35 paise (2) 60 paise (3) 50 paise (4)40 paise

foreft featferan & 9T 6,000 % & ot § T 3gh wrafe 2,400 % 1 @ ) wid w9
feran g T THAT & 7

(1) 351 (2) 60 @ (3) 50T (4) 40 ¥

(31) (Turn Over)
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99.

100.

101.

102.

If 15 labourers finish a work in 22 days, how many days will be taken by 33
labourers to finish that work ?

(1) 10days (2) 12 days (3) 18 days (4) 22 days

15 sfies wsh & 22 &7 ° = @ @t 33 uftes 3@ wm o e f’m @ @@
S ?

(1) 10 f& (2) 12 f&= (3) 18 f&3 (4) 22 f&

At what rate of simple interest will be a sum double itself in 8 years ?

OO ST R R B o 8 7 F g | R 7
(1) 15% (2) 12-1/2% (3) 10% (4)16-2/3%

How many bottles of ink a salesman need to sell at Rs. 4.37 each to earn a
commission of Rs. 87.40 at the rate of 10% ?

e fashar = 4 39 37 30 F wE @ | H fFad dae s aitel, aa
10 sfoe < 20 @ 38 87 7941 40 ¥ wHefiye Tt ?

(1) 275 (2) 225 (3) 200 (4)240

The smallest three digit number exactly divisible by each of 16,24,27 and
32is —

di i arelt _Ead wE, W 16,24,27 T 32 59% | Pia: fwew 9 @ —

(1) 896 (2) 936 (3) 432 (4)864

(32) (Continued)
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104.

105.

106.

120/101/25 (1)

In a family, the average age of a father and a mother is 35 years. The ave-
rage age of the father, mother and their only son is 27 years. What is the

age of the son ?

@ﬁﬂaﬂﬁ,ﬁmammﬁaﬁwa@%aé%lﬁmwammm

@ e Ay 27 aN R, AR Y R ?

(1) 12 years (I¥) (2) 11 years (a¥)
(3) 10.5 years (Id) (4) 10 years (ad)

What is the reciprocal of 2.3215 ?
2.3215 1 YA T BT 7

(1) 4308 (2) 4.643 (3) .6352

(4)4.308

Due to rise of 25% railway fare the number of passangers goes down by

36%, find the percentage increase or decrease in income.

(1) Increase 25% (2) Decrease 20%

(3) Increase 20% (4) Decrease 25%

@ Wi ¥ 25 gfewra gfg 3w g 6 s 36 sfowd v ki 2 | | A
7 wftwra gig @ w0 | |

(1) 25 sl (2) Fft 20 wfewa

(3) 3fg 20 wfowm (4) Ff 25 wiewa

Interest on Re. 1 at the rate of 1% for 1 day will be Rs. —

1% W1 Sfasa R @ 1 7 wr=a9 — w8 |

(1) .000027243726 (2) .000265684671
(3) .000265684671 (4) .00002739726

(33)
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107,

108.

109.

110.

Find the average of the first twelve natural numbers.

YuH SRE WTHoeh GEel @ e qar |
(1) 6.33 (2) 6.5 (3)5.6 (4)6.0
Find the compound interest on Rs. 400 for 3 years at 5% per annum

(1) Rs.75.50 (2) Rs. 65.45
(3) Rs.63.05 (4) Rs. 60.57

400 %, 1 5 ufaerd i T & 3 a6l % o wwglg = e

(1) =@ 75.50 (2) T 65.45
(3) T 63.05 (4) &1 60.57

A broker sold Rs. 10,000 stock at Rs. 95.25 per hundred. If the brokerage is
1/4%, find the amount received by the stockholder.

(1) Rs.9,500 (2) Rs. 9,025
(3) Rs. 9,650 (4) Rs. 9,475

T gEmel 3 10,000 3 =IF B 95.25 d9an it g | Wi Vher o= | A g
1/4 gfaera &, & T w1 e aen W S T9E |

(1) w9 9,500 (2) @ 9,025
(3) & 9,650 (4) 19,475

The speed of car is 80 km/hr. Find its speed in meter per second

(1) 25.5 m/sec (2) 22.2 mssec

(3) 27.25 m/sec (4) 32.2 m/sec

T I Tl 80 oo, wfd e & | 3|kl nifa e wit Gehve ward
(1) 25.5 ot 9fs Akvs (2) 22.2 |t gfe Svs

(3) 27.25 *it ufq Qve (4) 32.2 #t 9fe Ghvg

(34) (Continued)
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112.

113.

114.
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If 4% is lost by selling cloth at Rs. 5 a metre, at what price should it be sold
to gain 5% ?

(1) Rs.5.50 (2) Rs.6.25
(3) Rs.5.75 (4) Rs. 5.47

afg 5 oo s Hfiex Fwet 9= W 4 gfawa wi €t & & 5 sfvwa o & ol 3@
fore o 9T ST ST e ?

(1) &7 5.50 (2) &9 6.25
(3) ®A15.75 (4) 9 5.47

A bag contains one rupee, 50 paise and 25 paise coins in the ratio 2 : 3 : 5.
Their total value is Rs. 114. The value of 50 paise coins is

ThHIA H 1T, S0 am 25 F RfHm 2:3 :5 % Iqua A € | 9w oW
T 114 % 8 1 50 38 & Rl o1 qew 2

(1) Rs.24 (%) (2) Rs.36 (%)

(3) Rs.48 (%) (4) Rs. 72 (%)

If (afe g—;—g:%; Then (d9), X =2

(1) 33 (2) 54 3) 42 (4)36

What principal will amount to Rs. 13,310 in 3 years at 10% p.a. interest
compounding annually ?

(1) Rs. 12,000 (2) Rs. 11,400
(3) Rs. 11,000 (4) Rs. 10,000

10 sfowr =Sshglg =< A T & 3 ant A fvm quum &1 fagua 13,310 &0
B ?

(1) 12,000 &9 (2) 11,400 5=
(3) 11,000 & (4) 10,000 &5

(35) (Turn Over)
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115.

116.

117.

Present age of Kisalay and Malay are in the ratio of 2 : 3. Four years from
now the ratio of their age will be 6 :-7 what is the present age of Kisalay ?

(1) 2years (2) 3 years
(3) 6years (4) 7 years

Fereea U@ Weg <l IAAM 1Y 2 : 3 o AU A 8 | 316 | IR AT 918 Ih! 3P
6:7% 9 & g | fermerd % adAe g w R 7

(1) 2ad (2) 3ad
(3) 6ad (4) 734

Find two consecutive even number such that smaller of the two in 8/9 times
the larger number.

Q) ST T8 &9 wes Hi fee e o1 s ot @en 1 8/9 7 |

(1) 12, 14 (2) 22,24 (3) 18,20 (4)16, 18
Rohit is now one-third of his father's age. After twelve years the age of
Rohit's father will be twice the age of Rohit. What is the present age of

Rohit ?

(1) 12years (2) 16 years
(3) 20 years (4) 18 years

et Ufga o7 foan 1 o1y & w-Togrd 2 | 12 91 & 91 Ufea o fuan 6t oy
Afea 1 o 1 g A | Afed 1 awqE SRR 7

() 1299 2) 16 ¥
(3) 20ad (4) 18 o

(36) (Continued)
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119.

120.
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Find value :
Ted T W
(772 x(7/2)7

(1) - 49/4 (2) 4/49 (3) - 4/49 (4) 343/8

If three quantities a, b, c,be suchthata: b=4:5, b:c=15:16.Find the
ratio between a and c.

gt g, b, e T TR e a:6=4:5, b:c=15:16, @ a MM ¢ H
I1uTe ATt |

(1) 1:3 (2)3:4 (3)2:3 (4)5:8

What will be the next figures in this series ? 3, 9, 27, 81, 243, —

T @A H ST I w1 B ? 3,9,27, 81,243, —

(1) 334 (2) 486 (3) 668 (4)729

(37) (Turn Over)
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SECTION-V
©os-V

( English Language )

[ For the candidate opting for English Language ]

Direction : Q. Nos. 121-124 Choose from the four alternative numbers (1),

121.

122.

123.

124.

(2), (3) and (4) the word nearest in meaning to the bold parts :

There is not even one redundant word in the paragraph.

(1) Difficult (2) Wrong
(3) Superfluous (4) Unusual

They were totally unaware of the impending disaster.

(1) Threatening (2) Imminent
(3) Terrible (4) Possible

I don't like alien fashions.

(1) Unusual (2) Exotic
(3) Entraneous (4) Foreign

Japan has been very much eulogised in this book.

(1) Praised (2) Approved
(3) Appreciated (4) Applauded

(38) (Continued)
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Direction : Q. No. 125-128 : Select from the four alternative numbers (1),

125.

126.

127.

128.

(2), (3), and (4) the word which is closest to the opposite of the
bold word :

The Watchman is quite alert in his duty.

(1) Idle (2) Lazy (3) Careless (4) Sluggish
He was given a Luckwarm reception.

(1) Enthusiastic (2) Fevrent (3) Friendly (4) Moderate
He spoke against corruption with zeal.

(1) Passiveness (2) Indifference (3) Clamness (4) Despair
In a literary work obscurity can be a virtue.

(1) Clarity (2) Precision (3) Definiteness (4) Specificity

Direction : Q. No. 129-135 : Choose from the four alternatives the correct

129.

130.

131.

word to fill in the blank in the given sentences.

I — you to be at the party this evening.

(1) Expect (2) Hope

(3) Looks forward to (4) Desire

IwishI—aking.

(1) Was (2) Am (3) Should be (4) Were

Can you pay — all these articles ?

(1) For @) of (3) Off (4) Out

(39) (Turn Over)
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132.

133.

134.

13S.

Direction : Q. Nos. 136 to 140 : The given sentence is divided into three
parts numbered (1), (2) and (3). One of these contain an error.
Select the erroneous part. If you think there is no error in any
part of the sentence, select option number (4) which indicate 'No

136.

137.

Sima is confident — her victory

(1) At (2) In (3) Of 4) To

— You like another cup of tea ?

(1) Can (2) Would (3) Might (4) Should

I don't have a piece of chalk, so I — write on the blackboard.

(1) Dont (2) Won't (3) Can't ¢4) May not
The flow of blood was so — that the patient died.

(1) Adequate (2) Intense (3) Extensive (4) Profuse

error'.

Neither of the twoboys ~ is sensible  enough to do thisjob  No error

() (2) €) 4)

The scientist was seemed to be excited over the result of this experiment

) (2) (3)
No error

(4)

(40) (Continued)



138.

139.

140.

141.

142.

12U/101/25 (1)

He is very selfish man but you can't help liking him can't you ?

(1) (2) (3)

No error

(4)

John could not come to school ashewasillfromcold No error

) (2) €) (4)

Until you being to make a better use of your time I shall not stop
@ (2)

finding fault in you No error

(3) (4)

Which word of the following is not a noun ?
(1) Rubbish (2) Swell (3) Armour (4) Passion

From the given alternatives select the most appropriate one to fill in the
blank in following sentence :

It become — day to day, so we decide to go Kashmir

(1) Thehottest (2) Hot (3) Very hot (4) Hotter

(41) (Turn Over)
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143. Fill in the blank with the best of the conjunction :
He will never succeed — hard he works

(1) After (2) However 3) As 4) So

Direction : Q. 144-145 : Choose the correct meaning of the given idiom :

144. Do away with :

(1) Abolish (2) Retain (3) Distribute (4) Consider

145. Putup with

(1) Admire (2) Contract (3) Tolerate (4) Face

146. Identify the figurc of speech in the following line :
A noiseless noise among the leaves.

(1) Antithesis (2) Epigram (3) Paradox (4) Oxymoron

147. Choose from the four options the word which can be substituted by the given

group of words :
A plan that fail to develop
(1) Boggy (2) Abortion (3) Baleful (4) Abstruse

(42) (Continued)
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149.

150.
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Choose from the four alternatives the one which best expresses the given

statement into the Indirect speech.
He said, "Alas !Tamruined."

(1) He surprised that he was ruined.

(2) He applaused he was ruined.
(3) He exclaimed with contempt he was ruined.
(4) He exclaimed with sorrow that he was ruined.

Choose from the .four alternatives the one which best expresses the given
statement into the passive voice.
Turn him out

(1) He was asked toturnouthim  (2) He was asked that turn out him
(3) Let him be turned out (4) Iwas ordered that turn out him

Name the author who wrote the book 'Paradise Lost'.

(1) JohnBunyan (2) Lewis Carrol
(3) John Milton (4) George Bernard Shaw

(43) (Turn Over)
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SECTION-V
wos-V

( Hindi Language )
( Tt v )

[ For the candidate opting for Hindi Language ]
[ = wrar R e Ryenfd=t & ford |

R Rl F F M RAF TR IRA N E, R SHIT & R |

151.

152.

153.

154.

155.

fr w1 wigarh weg 8

(1) ™ (2) fafir (3) TEH
EECEEIR I R

(1) |mm (2) 7% (3) faw

fia =1 fem ot &

(1) W (2) Téa (3) =™
Uy w1 e w=g B

(1) 7 (2) Tredfer (3) ¥

‘Brr sreareht #f’ % ot o g 2

(1) fe=an (2) qa&n
(3) frEa (4) Nfeafeen
(44)

(4) =@

(4) T

(4) ITFH

(4) Terdhiof

(Continued)



156.

157.

158.

159.

160.
161.
162.

163.

“Ug TTAT T e B
(1) <ft o= ) T TS e
(3) <= (4) TS ST S

T R IAT FE Y @R ?

(1) T () 7
&g g 2

y A @” "
— TR §

(1) Rz @ &
LA ERICA

(1) di=s (2) A
TfraTes a8

1) T ) T
gfer wsg 3

(1) 3m 2) gk
gdam T 9 T ]

(1) ufommeees (2) TroErs

(45)

(3) &=

(3) TEEET)

(3) a9

(3) =g

(3) wE-Iud

3) 9§

3) FAf=EEs

12U/101/25 (1)

(4) 3ie

(4) XXXXX

(4)

(4)

(4) TiifaTg

(4) ==

(4) HEUa=S

(Turn Over)
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164.

165.

166.

167.

168.

169.

170.

A | 9 I TEA % A g R ?
(1) W= (2) STE (3) g
frer v A W AT &

(1) fram (2) T (3) WY

‘T TS TR ?

(1) e (2) TE (3) T
73

(1) =&y % Iyt (2) et Igat
(3) wRE IuEd (4) = uat

‘o’ 1 wd wfa-fa=de } 7
() 9+ (2)tn‘+a=r (3) W + 3N

‘@’ 1 98 afu-fasde = B ?

(1) g+ arm (2) & + @
(3) @+ (4) | + 3@
‘e FR?

(1) €m (2) o

(3) B (4) frm-fagu

(46)

(4) ST

(4) Hfam

(4) ozt

4)d + 39

(Continued)
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172.

173.

174.

175.

176.

120/101/25 (1)

‘T AR | A A R ?

(1) e (2) SEYER YO
(3) T I (4) geuA
‘e w1 dEs
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